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it AR UT [E BE o

(1) RUN [E] 8% “N=72" BAN;

(2) BR “JLGS? " HFHITBEERAN
w7 -5 [H ", FUTS LUMIUE—FH

(3) B/R “KEY or READ? " #Ria%ig%
ANR, EARBWAT “KEY B " Bx 4
(1, J) =7 " BOGUFEATHER, 1=,
2, 3, Ns J=1, 2, 3; BUWTE—FH

ADATAiEHEBA
(4) BR “y=2"
FEIRE E, B hEEK.
YUhrAit %, oRELR A TE BME LA L 70,
IEER, #E DER B . AR OB FHE,
WY HEFREZGRE, AEYFT 1801

% il
HFMTERSWITESGR (AL .

WAL IR RE &R

B HERS|HERrS] BE | HAFL| WATS
(A Loy |CCr | cay | ¢BH | €O
0.934 15 16 0.537 1 3¢
0.908 7 15 0.533 2 27
0.803 13 28 0.527 6 7
0.799 30 31 0.473 1 33
0.754 9 10 0.448 4 29
0.741 17 23 0.444 3 8
0.728 9 18 0. 439 9 17
0.668 13 19 0.390 1 4
0.668 7 32 0.378 1 20
0.633 11 25 0.295 3 26
0.627 2 5 0.248 I 6
0.635 1 2 0.217 3 n
0.612 9 12 0.175 3 9
0.597 6 14 0.054 3 13
0.554 8 22 0.047 3 24
0.542 17 21 - 0.881 1 3
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S:"A":CLEAR :
WAIT @: INPUT "
N=?"3N, "JLES?"
3 J$:L.$="S":N=N
~1

1B:DIM ACN, 4), YC(N
):BOSUB 758

12:"S": INPUT "Y=7?
"IYY:YY=SXYY

13:FOR 1=BT0 N:A(
I, 4)=9999:Y(1)
=p:ACI, 0)=08:
NEXT 1

15: 1F J$=LSLET P=
A(N, 1):0=0:
GOTO 28

18:0=1:P=A(N, 1)

20:F0R I=BTO N:
FOR K=8T0O N
38: 1IF AK, 2>=AC],

3OLET Acl, 4>=K
tG0TO 45
4P:INEXT K
45:NEXT 1
S8:FOR I=1TO N

60:FOR J=1-1T0 1
STEP -1

65:IF AT, 2X¢<>ACl
» 2)G0TO 180

78:1F Q(J’2)=g(1)
2)AND ACJ, 4)=9
999LET ACJ, 4)=
1:GOTO 1065

74:K=A¢J, 4>:G0TOD
80

75:K=A(K, 4)

80: 1F A(K, 4)=9999
LET ACK, 4>=1:
GOTO 1835

89:60T0 75

1BA:NEXT J
185:NEXT 1
120:FOR =8BT0 N:
FOR J=8T0 N
125: IF A¢J, 4)=1
GOTO 140

138:NEXT J

135:6G0T0O 169

148:NEXT 1

145:1=]1-1

160: J=P:Y(1)=YY: 1l
=0

17B:Q(J,0)=I

182:Y(I)=Y(lI)-YY:
J=J+1:11=1

198: I1=A(l, 4>

208: IF J<=NLET AadJ

,9)=l
218: IF JCN+1GOTO &
88

230:E=0:XX=-10:LF
5: G0OSUB 620:
TEXT :LF 3:
USING

2408: GRAPH :SORGN

258: IF YYCISLET XX
=-5:CSIZE 1

260: 1=ACE, B):60SUB
3080

278:1F ECNLET E=E+
1:GOTO 260

280: TEXT :LF 3:
GOSUB 628

2S0: TEXT :LF 4:END

3B2:Q$="P":B$="0" -

310: XP=20:X2=20+18
B¥(D-ACI, 1)>)>7¢(¢
D-P):X3=X2:X4=
X0

¥,



320:1F 1=PGOTO 420

338:FDR J=1-1T0 B
STEP -1

348: IF Acl, 2)=ACJ,
2)G0T0 371

3SB:NEXT J

36080:G0T0O 48P

37B:FOR K=1-1T0O @
STEP -1:IF ALK
» 2>=AC1, 3)GOTO
420

3BAINEXT K

390:G0TO 4609

400:F0OR L=1-1T0O 1
STEP -1:1F Al
s 3)=ACL, 2)G0T0
430

418:NEXT L

428t YB=Y(1):¥Y2=Y(I]
YiY3=—YY+Y(I):
Y4=Y3:B8$="A";
GOTO 570

430:YB=Y(1):¥2=Y(l]
):¥Y3=Y(L)-YYr2
tYq4=Y3:X4=20+1
8% (0-AlL, 1))/
C0-P)

443:B$="Q":A%$="B"

450:G0T0 579

460: YB=Y(J)-YYs2:Y
3=Y(l)-YY:V¥2=Y
B:Y4=Y3:G0TO 4
80

470:YQ=Y(J)-YYr2:Y
2=YD:Y3=Y(K)-Y
Yr2:Y4=Y3:A%="
B":G0TO 519

480: XB=20+18B% (0-A
¢J, 1>)/7(0-P): X
2=20+180%(0-A(
I, 1))7C(0-P)>: X3
=X2:X4=20

5S00:60TQ 588

51P:XP=28+180%x(0-A
(J, 123/C0-PH: X
2=28+188%x¢0-AC
1, 1))/7¢0-P)>: X3
=X2

520:X4=28+188%(0-A
(K, 1)>7¢0-P

540:G0T0 589

550: X0=20+1808%(0-A
(J, 1>)7¢0-P): X
2=28+18B%(0-A(
I, 1))7¢0~P): X3
=X2:%4=20

S70: IF Bs$="A"
GLCURSOR (XX, Y
B-S):LPRINT AC
2

580:LINE (X8, Y@)-(
X2, ¥Y2)-(X3, Y3

-(X4; Y4)
590: 1F A$="B"GOTO
618

688: GLCURSOR (XX, Y
4-5):LPRINT A(
1, 3)

619:RETURN

628: GRAPH :
GLCURSOR <20, 09
Y:SORGN :CSIZE
1:USING "##, 44
#a"

630:LINE ¢(9,0)-(18
a, 8>

640:ROTATE 3:FOR 1
=@T0O 18BSTEP 3
6

668: X1=1:Y1=08:X2=X
1:¥2=7:LINE (X
1, Y1)-(X2, Y2):
LPRINT O+(P-0>

¥1/188:NEXT I:

RETURNM

758: INPUT "KEY or

. REQAD?";B$:C$="

KEY": IF B$<{>Cs
GOT0 795

755:FOR 1=BT0 N:
FOR J=1T0 3

768:A$="A("+STR$ (
I+1)+", "+STRs
CIJ)+)H="

/J72:PRINT As;

/80: INPUT ACl, J>:
CLS

790:NEXT J:NEXT 1:
GOTO 8PP

795:FOR 1=8BTO0 N:
FOR J=1T0 3:
READ ACI, J):
NEXT J:NEXT 1

8@B:FOR J=1TO N:IF
J$=L$G0OTO 838

818: IF <AcJ-1,1)-A
(J, 1J)CBLET AC
J, 1)=ACJ-1,1)

820:G0TO 848P

838: IF (ACJ-1,1)-A
(J, 1))>BLET AC
J, 1)=AWJ-1, 1)

84B:NEXT J:RETURN
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